Assembly Instructions
LCC-117 High Fan Back Chair

Required Tools:
- 1/2" wrench or socket
- Hammer

Hardware:

- (4) 5/16" x 5" Bolts

- (6) 5/16" x 3 1/2" Bolts
- (10) 5/16"” Flange Nuts

(2) 5/16 x3 illlg"
Bolts and (2) 5/16
Flapge Nuts

(2) 5/16 x 5" Bolts
and (2) 5/16
Flange Nuts

g (1)5/16x3

Ax b /2" Bolt and (1)
P -y %[16 Flange Nut

Step 1

Using (2) 5/16” x 5” Bolts, (3) 5/16"” x 3 1/2” Bolts and (5)
5/16" Nuts, attach leg/arm (C) to the right side of the chair
back (A) and chair seat (B). DO NOT TIGHTEN NUTS AT
THIS TIME. Repeat on other side using leg/arm (D). Step 2

Once chair is together, adjust chair so

it sits evenly. Using a 1/2” wrench or
socket, go back and tighten all connect-

WME ing points.

Complete!

PURVEYORS OF QUALITY POLY FURNITURE

www.wildridge.com
330-893-4212
\_ © 2017 )




